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The plane closed figure with three sides and three
angles is called a triangle.
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Types of triangle -:

Based on sides - 1)Equilateral ii)lsosceles
iii)Scalene

Based on angles - i)Acute angled ii)Right angled
ii1)Obtuse angled

I MR 3R Sa1E & T8 © I BT & &%hd
gAh = %XWXWW'I?

Area of triangle if base and height is given

Area = % X base X height

U HaTg Yol B1 &bt
W—{xa Bl a =Sl &1 Yol

Area of an equilateral triangle

3
— - 2
Area= 4 Xa

gfe fdl FPryst &1 goll a,b,c € 1 89 ERIA G
BT SYINT BRD FADT &bl ST B bl &

%ﬂjﬁf BT SABI= \/s(s —a)(s—b)s—¢)

STef s = SRfgRATT =(at+b+c)/2
If sides of a triangle is a,b,c then we can find its
area using Heron’s Formula
Area of triangle= \/s(s —a)(s—b)s—c)
o (atb+c)
where s=semi perimeter=—"———7>—"

T AP BT 8T, dfa IAD! Yol AR Th
ﬁ%ﬁﬂf fear a7 81, ERF g BT ST IRD
ST foar ST e 2 |
Area of a quadrilateral,if its sides and one diagonal
is given can be find using Heron’s Formula.

where a=sides of triangle

(143}

Multipule Choice Question
( sgfadedia ue )

10 cm YSIT dTdl FHETE S &1 ¥ @@
BR?

a. 20 cm b.
c. 40 cm d.
What will be the perimeter of an equilateral
traingle with side 10 cm ?

a. 20 cm b. 30 cm

c 40 cm d. 35cm

afy fedft waerg Brgsr &1 uRAT 60 cm 2,
al sE@) T @ sef?
a
C

30 cm
35cm

25 cm b. 30 cm
35cm d. 20 cm

If the perimeter an equilateral triangle is 60cm.
What will be its side?

a. 25 cm b. 30 cm

C. 35cm d. 20 cm

GRil ST @ Sars 1 8 a1 e

10 cm 2 3R 9T J3%d 75 cm? ?
a. 20 cm b. 15 cm
c. 30 cm d. 35 cm

What will be the height of a triangle whose base
is 10 cm and its area is 75 cm? ?

a. 20 cm b. 15cm
C. 30 cm d. 35cm
IR ST I A 'S'qaT B ?

a. B9 &1 aFna

b. ST &1 gRAM™

c. 2rqst @1 arf uR\M

d. T 9 o T

What is “S” in Heron’s Formula?

a. area of triangle

b. perimeter of triangle

Semi perimeter of triangle
None of these

c
d
afe T st @1 g 10 cm, 20 cm, 30 cm
2 dl saar gRaa a1 |12
a 40 cm b. 50 cm
c 60 m d. 70 cm

If the sides of a triangle is 10 cm,20 ¢m,30 cm,
then what will be its perimeter?




a.  40cm b. 50cm 2 3 gu®T URWIY 60 cm 2 @ SHA! IR
c. 60m d  70cm BIE! oIl a1 ghfy?
6. A P qHlgETg s P IR1EX ST 10 cm a. 15cm b.  20cm
2 3R sUP EA 9T 15em = dl ST c. 10cm d.  25cm
gRATg FaT FI? If the sides of a triangle are in the ratio 3:4:5
a. 20 cm b. 30 cm and its perimeter is 60 cm. What will be its
c. 35cm d. 40 cm shortest side?
If the equal side of an isosceles triangle is 10 cm and a. 15 cm b. 20 cm
its other side is 15 cm.What will be its perimeter? C. 10 cm d  25cm
a.  20cem b 30cm 12.  afe fd s & qond 1:2:3 @ 3rgurd &
c. 35cm d. 40cm ¥ 3R Iu®1 yRATY 120 cm 2 A SUD! GaA
7. af e wufgarg Brgst &1 9R¥T 50 cm 2 aidl o @ g
3R YD TP oIl 10 cm © Al IHD! GRIER a. 40cm b.  50cm
ol 1 B2 c.  60cm d  70cm
a. 15 cm b. 20 cm If the sides of a triangle are in the ratio 1:2:3
C. 25 cm d. 40 cm and its perimeter is 120 cm .What will be its
If the perimeter of an isosceles triangle is 50 cm longest side?
and one of its side is 10 cm .What will be its a. 40cm b. 50 cm
equal side? c. 60 cm d. 70 cm
a.  15cm b 20cm 13, Ud Bl &1 89%d Sv€) gl 8
c. 25 cm d. 40 cm A X G
8. dfe & rys &1 efuRwma 60 em @ ar b, 2R X )
DT IRATY FT BIN? ) _
a.  30cm b. 15cm c. 7 (BER X &7 ?)
c. 120 cm d. 100 cm d %(W + )
If the semi perimeter of a triangle is 60cm.What
will be its perimeter? Area of a triangle is equal to:-
a. 30 cm b. 15 cm a.  base x height
c. 120 cm d. 100 cm b.  2(base x height)
A4 1 .
9. Ifs fosly s &Y <1 ¢ 25 em 3R 30 cm c. 7 (basex height)
2 IR 39T IRATY 100 cm 2 a1 sH®T 1 .
oIl T 2rf? d. > (base + height)
a.  40cm b. 45cm 14. Udb qHATg IS &1 do%el aR1&R 8l 8:—
c. 50 cm d. 55 cm f
. . . . 2 73 2
If two sides of a triangle is 25 cm and 30cm and its a. 4Xa b. g4 Xa
perimeter is 100 cm.What will be its third side? J3 , . :
a. 40cm b. 45cm ¢ Ty Xa d. T T B T
c. 50 cm d. 55 cm Area of an equilateral triangle is equal to:-
10. A wa rgs @1 I g 10 em, 20 cm © > V3,
a. 4Xa b. 4 Xa
3R b yRATT 80 cm 2 A PN A ;3
? 3
g e c. 5 Xa? d.  None of these
a. 50 cm b. 10 cm
c. I5em d. 20cm 15. & 9991 ol o $ar8 avre st 8-
If two sides of a triangle are 10cm,20cm and its
perimeter is 80 cm.What will be its third side? \/g 3
a. 50 cm b. 10 cm a. 5 Xa b. 5 Xa
c. 15 cm d. 20 cm \/g
< . - = 2 r
1. afe fed Brgst & qurd 3:4:5 8 gura 3 . 2 X2 d. ¥ PR
FaT-9 (e —
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The altitude of an equilateral triangle is equal to :- a. 1000 cm? b. 5000 cm?
/3 3 c. 9000 cm? d. 8000 cm?
5 Xa b. 5 Xa
21. s &) IeR o 12em @
R aﬁ?qﬁqTqSOcmélﬁlgGrﬁa%Wﬁ—
C. 5 Xa d. ITlone ofthe-:se a 95 om? b, 6\/75 om?
16. AfT v w¥arg s &1 g 10cm 2 i e 3/15 em? 4 /15 em
ST Bl T BIIT?
2543 e’ b 100 em? The equal sides of an isosceles triangle are 12
a ' . . cm and the perimeter is 30 cm.The area of the
c. 50\/5 cm? d. T Y Bl Tl triangle is :—
If the sides of an equilateral triangle is 10cm. a. 9 \/E cm’ b. 6 \/E cm?
What wil\l/Ee its area? c. 3 JE cm? d \/E cm?
a. 2543 cm? b. 100 cm?
22. qa1g Bl &1 83%d s o a1
c. 50 \/E cm’ d. None of these N \/7 %I'f[, 3
17.  afe Y& auarg Bt &1 aR¥1Y 180 cm @ @l em B WEY
SHPT Al B — a. 227 sq.cm b. % sq.cm
a. 900 cm? b. 9003 cm? /3
c. 300 cm’ d. 600 cm? . >0 sqem d Ty sqem
If the perimeter of an equilateral triangle is 180 The area of an equilateral triangle having side
cm.then its area will be :— length equal to ﬁ om is -—
a. 900 cm? b. 9003 cm? ) 5
C. 300 cm? d. 600 cm? a. 57 sq.cm b. 15 sd.cm
18. Ud s &I Hu{ HH: 122 m,22 m, 120 m 3,3 3
| %l'f[TrI 3T &% & — c. 64 Sd.cm d. 14 sq.cm
a. 1320’ b. 1300 m? 23. b GHAGHS Bl UAD ST 100 m 8 3R
c. 1400 m? d. 1420 m? |9 dd fa@of @ @918 160 m 2 | FHAGHS
The sides of a triangle are 122 m, 22 m, 120 m ERCE L
respectively. The area of the triangle is :— a. 2400 sq.m b. 9600 sq.m
a 1320 m?2 b, 1300 m? c. 9200 sq.m d. 8800 sq.m
c. 1400 m> d. 1420 m> The sides of a rhombus are 100m each and the
. length of the longest diagonal is 160m.The area
19.  Us S &1 dawd, Rradl <1 gug saer of 2 rhombus is
18 cm 3MR 10 cm 8 3R URHAM 42 cm &
PRI a. 2400 sq.m b. 9600 sq.m
o 20 em? b 19 om? c. 9200 sq.m ) d. 8800 sqm
c. 22cm? d  2lcm? 24. U&H B &) go] 3:4:5 Irqurd ¥ & AR
The area of a triangle with given two sides 18 cm $HST IRATT 300 cm 2 | $HBT Al BT -—
and 10 cm respectively and perimeter equal to a. 3725sq.cm b, 1500 ﬁ sq.cm
42 cm is =— C. 3750 sq.cm  d. 1900 sq.cm
a 20 cm? b. 19 cm? The sides of a triangle are in the ratio 3:4:5 and
c. 22cm’ d. 21 cm? its perimeter is 300 cm.Its area will be :—
3R ST gf¥E|rg 540 cm g‘ | 59 ﬁ'ﬂa I C. 3750 sq.cm  d. 1900 sq.cm
- 25. Udh o1 ol Pl ITER 8 cm
AAB € SEEa) 8 cm 3N Bt
a. 1000 cm? b. 5000 cm? 10cm B | S9BT SFA%Be B8IT —
c. 9000 cm? d. 8000 cm? a. 24 cm? b. 40 cm?
The sides of a triangle are in the ratio 12:17:25 c. 48 cm? d. 80 cm?
and its perimeter is 540 cm.The area is :— The base of a right triangle is 8 cm and the
FHa&-9 (IfOr) (145)




hypotenuse is 10 cm.Its area will be :—

Very Short Question Answer

a.  24cm? b. 40 cm? ( arfcrerg Sada g )
C. 48 cm? d. 80 cm?
26. WS aTQ G Brge A qoE 12maik 13 - 3a I A BE $1 HAS T 10em &,
m e, SHBT SAbA BT — TP G S HIA |
a. 78 sq.m b. 75 sq.m ;f eagh side of an equilateral triangle is 10 cm, find
c. 76sqm d.  77sqm its altitude.
The sides of a triangle containing right angle 2 < v HHaTE B[Sl @1 S48 20 cm 2, AT SHSD!
are 12m and 13m,its area will be :-— HoIT =I1d HIFTY |
a. 78 sq.m b. 75 sq.m If the altitude of an equilateral triangle is 20 cm,
c. 76 sq.m d. 77 sq.m find its side.
27. TS GHSIVT PS &1 @9 4me IR T 3 7 3 9y @l Hiex B ) A AR 4 Hiex 3R
&0 5m 2| THBT AFB BT — FAE 10 Hex e B fem § aw e
a. 6 sq.m b. 5 sq.m P AR ST HIFTT |
c. 8sqm d. 4sqm Find the cost of laying grass in a triangular
The perpendicular of a right triangle is 4 m and field with base 4 m and height 10 m at the rate
its hypotenuse is 5 m. Its area will be :— of Rs7 per sq.m.
a.  6sqm b 5sqm 4. TS GERRATE B T SR 12 em ? iR aRem
c.  8sqm d.  4sqm 32 cm & | THPT B ST BT |
28. 2cm Yol dTldl U GHATg 1S &1 9% The base of an isosceles triangle is 12 cm and its
fepaem 22 perimeter is 32 cm.Find its area.
2 2
a  Woem b ¥3em 5. Ww@a@'%gazﬁrtrﬁﬂmﬂcm D
c. V/8em d. 4cm’ TRIGR YT BT AR F JJUR 3:2 7 | Br[st &1
What is the area of an equilateral triangle with SEEISINIEINN
side 2 cm? The perimeter of an isosceles triangle is 32 cm.The
a V6 cm? b. V3 em? ratio of the equal side to its base is 3:2.Find the
.. /8 em? d 4 om? area of the triangle.
6. ﬁ%ﬁwmaﬁ"maﬁ"wﬁ ,
20. 4y/3 cm’ &G A TH wHATg Prger @ WEW@ .%»lw%
S S B G R aﬁézﬁraﬁwaﬁaﬁm %gﬁawaﬂﬁm
a. 3cm b. 4 cm RD) |
¢ 5 om ¢ d,' f6 om . A traffic signal board,indicating “SCHOOL
VV.hat is the l.ength of each side of an equilateral AHEAD?”,is an equilateral triangle with side ‘a’
triangle having an area 0f4\/§ cm’ i— Find the area of the signal board (using heron’s
a. 3cm b. 4 cm formula).
c. 5cm d. 6 cm o .
7. TP P @1 gl 13:14:15 & UM H ©
30. Ife v wHETg B &1 9RATT 60 cm 2, aF 3R DT URATT 84 cm & | BRI B Yoral @1
SHGT 8% T 27 ST ST BT |
a. 100 \/5 cm’ b. 100 ‘/§ cm’ The sides of a triangle are in the ratio 13:14:15 and
c. 200 \/5 cm? d. 200 ﬁ cm? its perimeter is 84 cm.Find the length of the sides
If the perimeter of an equilateral triangle is of the triangle.
60cm, what is its area? 8. Udh Udh H Uph WilsS & SHH Th dNB Bl
a.  100y2 cm? b. 1003 cm? IR B Th G B AT HB I H T T
. 2002 cm? d. 20043 cm? 8'HIF BT BRI SR A1 ¥ | ;G IR Bl
gol¢ 15m, 11m 3R 6m &, 37 ¥ U 8T
AT BT &A% S DI |
-9 (I
T T (145)
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There is a slide in a park.One of its side walls
has been painted in some colour with a message
“KEEP THE PARK GREEN AND CLEAN”.If
sides of the wall are 15m,11m and 6m,find the arca
painted in colour .

U& Ud Aql ABCD & 3R &l & o £ C=90°,
AB=9 m, BC=12 m, CD=5m 3N AD=8 mUld &l
B T B |

A park is in the shape of quadrilateral ABCD in
which £2C=90°, AB=9 m, BC=12 m, CD=5 m and
AD=8 m. Find the area of the park.

U FHATE B &1 &Fhe = BIfg !
oﬁ'l?f&/?cm%l

Find the area of an equilateral triangle whose
altitude is 5 ﬁ cm.

Short Question Answer

(org S ue )

T T A =T WSl & dITSll | I 8
ST @1 AP H AT AT © | I BT HUI
9T 32 cm f3&01 &1 U o 8 SR freer Anr
T HHETg ST § Tl 3MER 6 cm 3R Yol
8cm Tl TG PN & IS oS &1 fha
DTS 9geh fhar 1T §°

A kite in the shape of a square with a diagonal 32 cm
and an isosceles triangle of base § cm and sides 6 cm
each is to be made of three different shades as shown

in fig.How much paper of each shade has been used
in it?

A

C

6¢
RN

8cm F

BRI WR TP Bl dI [SSTgd 16 ST &1 crgal A
T T B RTH | TA$ B oI 9 em, 28 cm
3R 35¢cm B 59 esal Bl 50 ufd cm? &Y R
| Tiferer B BT I T DI

A floral design on a floor is made up of 16 tiles
which are triangular ,the sides of the triangle being
9 cm, 28 cm and 35 cm .Find the cost of polishing
the tiles at the rate of 50 paise per cm?.

(147}

<1 faf=1 M & Fusl & 10 BRSTeR gael Bl
AR b BIAT TR AT & YD bl bl Al
20 cm, 50 cm 3R 50 cm B BT § UAH T BT
fpaT dueT o B

An umbrella is made by stitching 10 triangular
pieces of cloth of two different colours each piece
measuring 20 cm, 50 cm and 50 cm. How much

T S SR U THIR IgYSl B R 3R
&A% WA © | IS BRIt 1 Yo 26 cm, 28 cm
3R 30 cm 3R FAMR TYST 28 cm 3R W
ST ¥ R TG BT HaAE ST DY |

A triangle and a parallelogram have the same base
and the same area.If the sides of the triangle are
26 cm, 28 cm and 30 cm and the parallelogram
stands on the base 28cm,find the height of the
parallelogram.

A rhombus shaped field has green grass for 18
cows to graze.If each side of the thombus is 30 m
and its longer diagonal is 48 m, how much area of
the grass field will each cow be getting?

Long Question Answer

(et Sadg g )

U Wd G & IMBR bl & oTad! FqHax
o 25 m 3R 10 m & | SAHIR goI¢ 14 m 3R
13 m ©| 39 Wd & &%l Sd DI |

Afield is in the shape of a trapezium whose parallel
side are 25 m and 10 m. The non parallel side are
14 m and 13 m. Find the area of the field.




2. XA UH FE W_ﬁwgaﬁmzm%a Side = 10 cm :
ERIRIEC KICIRCICa ¥ fe=gman T & | 93T g Altitude of an equilateral triangle = —5— X Side
T BTG B Hd SABA S DI
Radha made a picture of an aeroplane with _ ﬁ % 10
coloured paper as shown in the figure.Find the 2
total area of the paper used.
bap = 5\/§ cm Ans
|HaTg et & Rideld @1 @a1g = 20 cm
I L3 XY =20
Scm 2
= 3 XYl =20 X 2
40 X 4 :
6em qoll = = Side = 3 03‘5 cm’
v V3 %y3
v 1.5¢ /3
" SOYSTT = #cm Ans.
f= Altitude of an equilateral triangle = 20 cm
&
)
© 3
= 4 X side = 20
| lem |7,
\o@’ILA@ = /3 X Side =20 X 2
2cm
. 40%xy/3 4043
3 WWWWNcm%IWW ﬁSlde=£Xﬁ= 3 cm Ans.
famol 8 cm 8 | $ AHAGYST DT S=Be TAT G . _
fqaol @1 olarg ST HIfIy| ol JeT @1 el = 5 X AR X GArE
The perimeter of a rhombus is 20 cm. One of its 1 2
diagonals is 8 cm. Find the area of the rhombus =3 X 4X10=20m’
and the length of other diagonal.
T {8 @1 AT = Rs 7 x 20
Multipule Choice Question =Rs 140  Ans.
( sgfaweada ywl &1 Sav )
Area of triangular field = 15 X Base X Height
I.b 2d 3b 4.c 5.¢ 6.c 7.b 5
8c 9b 10.a  1l.a 12¢c 13.c 14D =%><4>< 10 =20 m’®
15.a 16.a 17b  18a 19d 20.c 2la Cost of laying grass = Rs 7 x 20
22.c 23b 24c 25a 26 27.a 28D =Rs 140 Ans
29b 30.b ryst @1 gk =32
Very Short Questons Answer SXTx+12=32
( arforerg weat @1 SR ) = 2x=32-12=20
1. ﬂTYHZIOCH} \/g :)XZT IOCm X X
g Brgst & Rideld @f ofdrg = 5~ x ol
30 12cm
\/5 s=5 = 16 cm
=5-X10
2
= 5\/5 cmAns
-9 (vfora
T T (148)
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Js(s—a)(s—b)(s—c) s:a+g+°:12+;2+8=16cm
A w1 amma— = V16 X (16 = 10)(16 — 10) X (16 — 12)

= /4x4x6%x6x%4 areaof A= /s(s—a)(s—b)(s—c)
= /16 X (16— 12) x (16 — 12) x (16 — 8)
=/AX4x4x4x8 =

=4X6X2=48cm’ Ans

Perimeter of triangle = 32 =4X4,/2X2%X2=16%2y2
X+x+12=32 :32\/Ecm2 Ans
= 2x=32-12=20
_&:10 atata _3a
= X = 2 cm X X 6. §g=F— ==
3 2 a
32
s =5 = lécm om
areaof A = /s(s—a)(s—b)(s—c) a
=16 x(16—10)(16—10) x (16 — 12) A ®reame = y/s(s —a)(s—b)(s—¢)
_ 3a(3a 3a 3a
= X4X6X6X — /2afsa _ J(2a_ (22 _
V4x4x6x6 ) \/2<2 a>(2 a)(z a)
=4 X6X2=48cm Ans
_ a.a,aga
_\/3><2><2><2><2
5. PYS &1 alkam =32 a_a
=< xS x
3x +2x + 3x =32 2 X373
2
= 8x =32 :«/543.
_32 _ 3 .
=x="g =4 Z{az Ans.
a=3x4=12cm
s:a+a+a:37a
b=2x4=8cm 3 2 a

c=3x4=12cm
_atbtc _12+12+8 _

a

= 1
; 2 2 bem area of A Z\/s(s—a)(s—b)(s—c)
A BT &5 :\/3721(373_ )(La_ )(La_ >
2\2 "3\ 2 2 @
=J/s(s—a)s—b)s—c)
:\/3xix£xixi
= /16 x (16 —12)x (16 — 12) x (16 — 8) 2727272
= X4X4XL4X] = —aa
JAX4x4X4x%8 SxExy3
=4x4,/2X2%X2=16%2y2 J3a
232«/§cm2 Ans -4
Perimeter of triangle = 3 —4 4 ns.
3x+2x+3x=32 7.
= 8x =32
a=3x c=3x _
ﬁxz%m‘ c=13x b=15x
a=3%x4=12cm ——
b=2x4=8cm a=lax
AT = 84 cm
c=3x4=12cm = 13x + 14x + 15x = 84
= 42x = 84
FH&-9 (o) (W




:>X:%=2

a=13x2=26cm
b=14x2=28 cm
c=15%x2=30cm

3rd: RSt @ god 26 cm, 28 cm TT 30 cm & |

c=13x b=15x

a=14x
Perimeter = 84 cm

= 13x+ 14x+ 15x =84

= 42x = 84
:X:%:z

a=13x2=26cm
b=14x2=28 cm
c=15%x2=30cm Ans

11 m

a=15m,b=11m,c=6m

_atbtc _15+11+6 _ 32
S 2 2 2

= 16m

a=15m,b=11m,c=6m
_atbtc _15+11+6 _ 32 _

S 2 2 2
areaof A = {/s(s—a)(s—b)(s—c)
=16 x(16—15)x (16 —11)x (16 — 6)

16m

=/16X1x5%10
= /4X4X1X5X5x%2
=20\/§m2 Ans
YISATTRE U9 9,
B 9m A
BD = /BC*+ CD?
= /2P + (57
12y +(5) 12m om
=144+ 25
=4/169 = 13m
Sm D
1 6 ‘
ABCDW&%:§><5><1%=30mZ
AABD & foru
_9+8+13 _30 _ .

A BT eaFha=/s(s—a)s—b)(s—c)

=/15x(15-9)x(15—8) x (15— 13)
=/I5%6x7x2
=/5X3X3X2X7xX2
=3x2/5x7
=6\/¥m2
— 3 UTB BT &o = 30 m2+ 64/35 m?2
=6(5++/35)m> Ans

By pythagoras theorem
A BT do= /s(s—a)(s—b)(s —c) 9m A
=/16x(16—15)x (16— 11) X (16 —6) BD = yBC’+ CD’
= /16 X1x5% 10 =/(12F+(5)
= /4X4X I X5X5%2 —Jl4a+25 12m 8m
=20/2m>  Ans =,169 = 13m
C S5m D
1 6 :
Area of ABCD = = X 5 X 12 = 30m’
15m 6m 2
For AABD
—9+8+13 _30_,
11m s="3 —3 =lm
F&T-9 (0ra) (=M
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AreaZ\/s(s—a)(s—b)(s—c)
=/15x(15-9)x (15— 8) x (15— 13)
=/15X6X7X2
=/5X3X3X2X7%X2
=3x2y/5%7

=6x/§m2

= Area of park =30 m*+ 6 @mz
=6(5++/35)m> Ans

2 XﬂTrlT =32
16\F2cm

. g ABCD &I &0 = (ST)2 =

:>'ﬂGIT \/7
(16y2)

=512 cm?

MR LT 8o = 91T 11 6T &o

= _552 = 256cm’

[ a7 @& fdeol I 2 RER &a3ha arel Bt 4

10, wwarg Byt @1 Rrfed = 5¢/3 cm forTRAd el & 1]
V3 X ol = 5¢/3 YT I & forg
5./ %2 a=6cm,b=8cm,c=6cm
ST _atbtc _6+8+6 _ 20 _
= YoiT=10 cm
\/7 T 111 b1 &:Toz\/s(s—a)(s—b)(s—c)
T T "ﬁ"‘* (o) =/10x(10—-6)(10—8)(10 — 6)
5
fxwxw 25{/3cm’  Ans =V2X5X4x2x4
=4><2><«/7=8\/§cm2Ans
Altitude of an equilateral triangle = 5 ﬁ cm
A 0
=5 X Side = Sﬁ
= Side = 10 cm h
. 3 RS B D
Area of an equilateral A = 4 X (Side ) 11 M
3 5 5
Z{;X%GX}GZ%\/Ecm? Ans c
cm
Short Answer Questons E SIgn F
(&g Al BT IR )
A Diagonal of a square = 32 cm
L 2 X Side = 32
Lo 32
= Side = —F7—== 16\F2cm
B V2
B 0 M D .. Area of square ABCD = (Side)* = (16«/5)2
=512 cm?
c .. Area of region | = Area of region 11
_ 512 _ 2
h réem =5 256cm
gem F [As diagonals bisect the square into two triangles
Tt BT FIH =32 em of equal area]
FET-9 (I1T0Ta) (151)




For region 111
a=6cm,b=8cm,c=6cm

atbtc _6+8+6_20 _ .
2 2 2 cm

Area of region III = \/s(s —a)(s—b)(s—c¢)
= /10 x (10— 6)(10 — 8)(10 — 6)
=/2X5X4X2%X4

= 88.2 cm?
Area of 16 tiles = 16 x 88.2 cm? = 1411.2 cm?
Cost of Polishing

= Rs% X 1411.2 = Rs705.6

= Rs706 (Approx) Ans

3. UG BETHR HUs & forg
=4><2><\/§=8\/§cm2 Ans a=20cm, b=50cm, ¢ = 50cm
S[RI07 as‘aaﬁﬂw Za-i-b+c:20-1-50-1-502120:60
v J>em b hUS Hl &o = \/s(s—a)(s—b)(s—c)
28cm =/60(60 —20)(60 — 50)(60 — 50)
a=9cm, b=28cm, ¢=35cm =«/60><40><10><10
+b+ +28 +
=athte _9FAMEI _ 72— 36em — J6x4x10X10x 10X 10
QCaEﬁEga?ﬁf&#OZ\/S(S_a)(S_b)(S_C) =10X10v/6 X2 X2
= /36 X (36— 9) x (36 — 28) X (36 — 35) — 200,/6 o’
=/6X6X27X8X% 1 _
B . IAP T P BUS BTEFTBA = 5 X 2004/ 6
=6,/3X3X3X2X2X2 100078 cnr A
= cm” Ans
=6X3X
63 2J€ For each triangular piece of cloth
=36X245
882 em? a=20cm,b=50cm, c=50cm
=88.2 cm
_atb+c _20+50+50 _ 120 = 60
16 Y% A BT &o = 16 x 88.2 cm?= 1411.2 cm? ST T 2 -2 ~biem
T aeel o orn Rs% X 14112 = Rs705.6 Area of each Piece = \/s(s—a)(s—b)(s —¢)
— Rs706(Approx)  Ans = /60(60 — 20)(60 — 50)(60 — 50)
Side of each tile. = /60X 40X 10X 10
9em 350mm =/6x4x10x10x 10X 10
=10X10/6X2X2
28cm
=2004/6 cm’
a=9cm, b=28cm, ¢=35cm . _
o a+btc _ 9+28+35 =E=36cm . Areaof cloth of each colour = 5 x 200/6
2 2 2 = 1000y/6 cm” Ans
Area of each tile = \/s(s—a)(s—b)(s—c)
= /36 % (36 —9) % (36 —28) X (36 — 35) 4. A S R
=/6X6X27X8X1
=6,/3X3X3X2X2X2 26em 30em
=6Xx3%2/6 h
=36 X245 .
B 28cm cP 28¢cm  Q
-9 (IrorT —
TS ( ) 152




AABC ¥,

a=26cm,b=28 cm,c=30cm

_a+b+c_26+28+30_&_42
ST T 2 T2 teem
AABC® & =/s(s—a)(s—b)(s—c)

= /42 x (42 —26) x (42 — 28) X (42 — 30)

= /42X 16 X 14X 12

:/2x3x7x4x4x2x7X2X2X3

= /2X2X2X2X4X4X3IXIXTXT

=2x2x4x3x7=336cm?
. IR AT BT &lo = A BT &lo [T 2]
. 3R x $aT3 =336

.28 x ST = 336
12
48
336

:h—w 4 = 12cm Ans

A S
26cm
30cm h
-
B 28cm cCP 28cm  Q
For triangle ABC

a=26cm,b=28 cm, ¢c=30cm

_atbtc _26+28+30 _84 _ ,,
2 2 2 cm

Area of AABC =/s(s—a)s—b)(s—c)

= /42 X (42 —26) X (42 —28) X (42 — 30)

= /42X 16 X 14X 12

=/2X3XTX4X4X2XTX2X2X3

=/2X2X2X2X4X4X3X3IXTXT

=2x2x4x3x7=336cm?
According to question,

Area of | gm PQRS = Area of A ABC
= Base x Height =336

FaT-9 (I0d)

= 28 xh =336
12
48
h_336 B
=h="5g¢" 4 = 12cm Ans
1
30m

Om

AC=48m

© EIgYS @ [dPU Ub AR Bl AT
cacikd

S OA=0C=24m
AAOD ¥,
YEATTRA UHI ¥,
OA?+ OD?=AD?
= (247 +x*=(30)
= x> =900 — 576

= x> =324
=X =4/324 = 18m

S.BD=2x18=36m

. 1 d
..wagﬂmzma#ozjxﬁwvﬁzmw
X 48x 36 m2=24 x 36 m’
2
o Trraa%i%mamwra%ozmx%

8
1

=48 m?

30m




AC=48m =7x2x2x3

Diagonals of a rhombus bisect each other at right =84 m’
angle. o % % X ST — 84 m?
. OA=0C=24m 1
=5 X 15XCP =284
In AAOD gax2
= CP = m
By Pythagoras theorem 15
. _ L . }
OA” + OD? = AD? ¥Held. ABCD 1 glo = - X (FHIAR qoTil B
o M) X SATg
= (247 +x*=(30) 1 84 X
=53 X(251t10)X
= x* =900 — 576 2 X )X s
‘ 7 28
2
=X =324 35 x84
=X =324 = 18m ﬁ%

"BD=2x18=36m
=7 x28 =196 m*> Ans

.. Area of thombus = % X Product of diagonals

=%><48><36m2 Draw CE | DA
24 % 36 m? .. AECD is a Parallelogram
e 2 S.CE=DA=14m
.'.Areaofgrassﬁeldforeachcow:736 10cm C
%81 D
— 2
‘|P
Solitions of Long Answer Questons B
(& et P o ) Draw CP CP L AB A 10m A 15m
For AEBC 25m
1. CE | DA d¥=r a=14m,b=15m,c=13m
. AECD U&% FHdR g4l 2 | q—atbte 14+15+13 _42 _
.CE=DA=14m 2 2 2
p 10em C Area of AEBC =+/s(s—a)(s—b)(s—¢)
14 14m/ |\ 13m =21 x(21 = 14)x (21 —15) X (21 — 13)
P =21 XTX6X8
: A 10m E 15mB
AEBC ¥, m m =/3XTXTX3X2X2X2X2
25m
a=14m,b=15m,c=13m =T7XxX2x2x3
_atbte 14+15+13 42 = 84m’
s 2 2 2 m

Also % X base X Height = 84

AEBC & 8o = y/s(s—a)(s—b)(s —c) - 5 X 15X CP = 84

_ _ _ — X
V21 x(21 - 14)x (21 = 15) X (21 — 13) L Cp= 8415 2
= V2L XTX6X8 .. Area of trapezium ABCD
= 3XTXTX3X2X2X2X2 = X Sum of Parallel sides X Height
FET-9 (ITOI)




=1—><(25+10)><84X%
2 15
7 28
35X 84
s
3

=7x28=196 m?> Ans

Scm

6cm

v
v V

| lem |
\o@ I \

6.5cm

2cm
qeT [ & fore
a=5cm,b=5cm,c=1cm
_atbtc _5+5+1 _ 11 _

N 1T 8o = y/s(s—a)(s—b)(s—c¢)
=/55(55-5)(55-5)(55—1)

=/5.5%0.5%0.5X%4.5

— 55 ., 45
= 05X/ 70 * 10
05

Z%XSX%/ﬁcmz

=0.75 X y/11 cm’
=0.75 x 3.32 = 2.48 cm?
AN Il T &o =1xb=6.5 x1 =6.5 cm?
AN IV BT &o =9 V BT &o
T N EEIE]

1 cm
> &/ \
\o III\Q %

lcm 1cm

AT DI Halg = FHAIG S DI SHaTg
zﬁx WZ@chm Z\/;cm

2
ART 111 BT &Fo= FHcld BT &°
=17(W oIl T ART) XS aTg
| V3
=5(2+1)XT
U330 3x13
4 -4

=1.29cm*= 1.3cm? (<TTH)

WRINT fhT T BT BT &0 = RT [ BT &o + 9T
I &7 &o +9RT I BT &o +¥RTIV BT &o + 9T
V&l §o=248+6.5+13+4.5+45=1928 cm>

Ans.
1
S5cm
6cm
A\
v y7
11
g
o]
)
| lem |
&/ 1 \
N
2cm
For Part-1
a=5cm,b=5cm,c=1cm
_atbtc _5+5+1 _ 11 _

Area of Part—1=y/s(s—a)(s—b)(s—c¢)

=/55(55-5)55-5)(55-1)

2 i =/5.5%X0.5X0.5X4.5
_ 1 _ 2 55 _ 45
= XX = = = X —
5 6X1.5=4.5cm 0.5 X 0 <10
a1 & forw :%x 5X11X5X%X9
FaT-9 (1) (155)




=%X5X3«/ﬁcm2

=0.75 X /11 em?®
=0.75 x 3.32 =2.48 cm?
Area of Part-Il=1x b= 6.5 x1 = 6.5 cm?
Area of Part IV = Area of Part V
= % X Base X Height
1 3 _ 9
;XGX 1.5=4.5cm

For part-11I
1 cm
Y S\~
SARLGAC

lecm 1lcm
Height of trapeziun= Height of equilaterial triangle

/3 /3

= —5-X side = —5— X1 cm =£cm
2 2 o)
Area of Part-11I = Area of trapezium

= 15 (sum of parallel sides)xheight

_ 1 V3
—-2(2+1)x 3
33 _ 3X1.73
T4 - 4

=1.29 cm?= 1.3 cm? (Approx.)
Area of used Paper = Area of Part[ [ + [I + I + IV
+V]=248+65+13+45+45=19.28 cm?
Ans

D C
X
S5cm ‘0
(0)
bxc“@
A B
fear ®
gRATT =20 cm

4 X 99T =20 cm

AB=BC=CD=DA= 24—00m:50m

F&T-9 (0ra)

Let AC=8cm

FAAGIS BT Aol U A BT FHSIT IR FAfg
AT Hrar 2 |

LOA=0C=4cm

AMT OB=0D=x

ISANTRE UHI ¥

OA? + OD? = AD?

=4 +x" =5

= 16+x*=25

=x’=25-16=9

:>X:\/7:3

S.BD=3x2=6cm

.'.Wﬂgﬂaw%z%xwﬁw‘fx T ol

1 3 2
=§><8><6=24cm Ans

Scm “0

A B

Given

AB=BC=CD=DA= %cmZSCm

Let AC=8cm

Diagonals of a rhombus bisect each other at right
angle.

SOA=0C=4cm
Let OB=0D=x

By Pythagoras theorem
OA*+ OD?=AD?
sS4 +x'=5

= 16+x’=25
>x’=25-16=9

:>X=\/7:3
S.BD=3x2=6cm

.. Area of rhombus = =5 X Product of diagonals

1
2
IRV 2
2

X8 X6=24cm”Ans
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